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1 i 21.0 2,544 i i1 i1 i1 it i1
2| A 5] 21.0 2,440 i i i i it i
3| w i 20.7 2,391 i i1 i1 i1 it i1
4| x 5 19.8 2,403 i i i it i i KERIE (FK - BeR0)
5| = 5 19.6 2,103 i i i i it i
6| & 5 20.0 2,442 i i i i it i
7] + 53] 20.5 2,425 i i1 i1 i1 it i1
8| =B 2 20.9 175 i1 it it i i =
9| B i5 22.5 507 i it Fiii it Fiii it
10[ % i5 19.9 1,740 i it Fiii = i i KERIE (R - BEREA)
11 x i5 18.9 2,167 i it Fiii it Fiii it
12| *« i5 18.9 1,869 i it Fiii it Fiii it
13| = i5 19.0 2,318 i it Fiii it Fiii it
14| + i 19.3 2,621 i it = i i "
15| B i 18.9 645 i1 it it i i =
16| B 5 20.8 1,378 Fiid it Fiii = i Eiid
17| w 5 20.4 2,116 Fiid it Fiii = i it KERIE (K - BERE)
18] x 5 20.8 2,258 Fiid it Fiii = i Eiid
19 =* 5 21.3 2,356 Fiid it Fiii = i Eiid
20| = 5] 21.9 2,267 Fiid it Fiii = i Eiid
21| + i 20.7 2,140 i it it i i Eiid
22| B 2 19.9 2,056 i it = i i Eiid
23| A 2 19.6 2,038 i it it i i Eiid
24| w i 18.9 1,443 Fiii piii3 = piiia i it KERIE (FK - BERE)
25| K i 18.2 2,028 it it Fiii i i it
26| & i 18.0 2,243 it it Fiii i i Eiid
27| & 2 18.7 2,026 Fiii piii3 Fiii3 it Fiicd =
28| = 2 18.2 2,181 it i it i i it
29| = i 17.3 1,789 it i it i i it
30| A i 17.5 1,428 i fiii3 Fiii3 it iicd =




